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This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example :

where (3) is the correct response.
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Sheet given inside the Booklet only. If you mark your
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allotted for the relevant entries, which may disclose your
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means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Black Ball point pen provided by C.B.S.E.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PHYSICAL EDUCATION
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

10.

guestions are compulsory.

Word “Diskos” in Greek meant

(1) A thing of pushing (2) Athing of eating

(3) A thing of playing (4) A thing of throwing

Which of the following drugs is not banned by the International Olympic Committee ?
(1) Cocaine (2) Marijuana

(3) Alcohol (4) Ephidrine

Which of the following movements does not perform by elbow joint ?

(1) Flexion (2) Extension

(3) Rotation (4) Pronation

Which of the following is not the response of the stress process ?

(1) Trait Anxiety (2) State Anxiety

(3) Muscle Tension (4) Attention changes

Effective teaching skill is influenced by numerous factors, dominant among them is
(1) Equipment (2) Group size

(3) Particular activity (4) Weather

Which of the following is not included among the dimensions of health ?

(1) Religious health (2) Inter-personal health

(3) Environmental health (4) Emotional health

Which of the following is not a characteristic of sports training ?
(1) Process of perfection (2) Performance during training sesson
(3) Controlled daily routine (4) Utilization of human reserves

The number of observations which are independent of each other and further cannot be
deducted from each other is

(1) Standard error (2) Degree of freedom

(3) Cumulative scores of distribution (4) Normative scores

The obtained score for its portion is compared with
(1) Norm (2) Alpha coefficient
(3) Criterion referenced standard (4) All of the above

As an essential part of a lesson plan, the major purpose of formal activities is to
(1) Make the selection flexible (2) Increase mobility
(3) Provide recreation (4) Enhance skill-improvement
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11.

12.

13.

14.

15.

16.

Play theories are

(@ Psychodynamic theory (b) Psychoanalytic theory

(c) Recapitulation theory (d) Drive theory

Codes :

(1) (a), (d) (2 (), (c)

@) (). () 4) (b), (d)

During short term (1 minute or less) high intensity exercise energy supply is maintained
through :

(@) Aerobic glycolysis (b)  Anaerobic glycolysis

(c) Breakdown of ATP (d) Krebcycle

(e) Breakdown of CP (f)  Electron transport chain

Codes :

(1) (@), (b), (d) (2)  (a), (d), ()

3) (). (e) (D) 4) (b, (c), (e

A good coach should concentrate for his shot-putters on three aspects from the following :
(@ Optimum acceleration (b) Greater speed

(c) Parallelogram of vectors (d) More optimum angle

(e) A greater height of release

Codes :

(1) (b), (d), (e) (2 (@), (). (d)

@) (@), () (e) 4)  (b), (), (d)

Find the correct combination of variables in predicting behavioural aspect of personality.
(@) Skeptical (b) Cognitive

(c) Physiological (d) Psychological

Codes :

(1) (@, (d), (c) (2) (@), (), (d)

@) (@), (b), (d) (4) (b, (c), (d)

The effectiveness of physical education teaching is depended on :
(@ Physically engaged time spent by student on activity.

(b)  General supervision

(c) Allocated time for physical activity

(d) Well-planned and meaningful task.

Codes :
(1) (@), (b), (c) 2) (a), (c), (d)
(3) (b), (c), (d) 4) (a), (b), (d)

Find the correct combination of signs of AIDS using the codes given below :
(@) Prolonged chronic diarrhoea for more than one month.

(b) Continue fever for more than one month.

(c) Loss of appitite

(d) Swelling of the lymphglands

Codes :
(1) (). (c), (d) (2) (b), (c), (d)
) (@), (), (c) 4)  (a), (), (d)
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17.

18.

19.

20.

Find the correct combination of the methods of plyometrics using the codes given below :

(@ Frog jumps (b) Tuck jumps
(c) Bunny hops (d) Vertical jump
(e) Hurdle hopping

Codes :

(1) (@), (b). (c) 2 (c), (d), (e)
@) (), (c). (b) (4)  (0), (c), (e)

Which of the following are the principles of Scientific Management ?
(@) Scientific selection of workman.

(b) Standardisation of tools and equipments.

(c) Cooperation between managers and workers.

(d) Different piece rate plan.

(e) Development of a Science of work.

Select the correct code.

Codes :
(1) (), (d), (e), (b) and (c) (2) (e). (@) and (c)
(3) (c), (b), (e) and (a) (4) (b), (d)and (a)

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Objectives are more specific than goals, they are short-term statements of
specific outcomes that are build cumulatively to reach a goal.

Reason (R) : Physical Education programs teach motor and sports skills and promote
fitness and health of students.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Carbohydrate, fat and protein are three rich sources of energy which can
produce ATP and ATP is stored in muscle.

Reason (R) : Protein is the only substance which can produce maximum energy (ATP)
and therefore athletes should consume large quantity of protein.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Paper-I1 6 J-47-16
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(3 (A)TTAR(R) T ¢ |

(4) (A) Ted & 3R (R) & € |
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21.

22.

23.

24,

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : To every action there is an equal and opposite reaction.

Reason (R) : A weight-lifter performing a bench press applies force to the barbell to lift it
and the barbell in turn pushes down the hands of the weight-lifters.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3 (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The field of sport and exercise psychology is above all a science. For this
reason it is imperative that you understand the basic scientific process and how
scientific knowledge is developed.

Reason (R) : The active process of integrating scientific and professional practice
(knowledge) will greatly benefit you in using psychological skill in applied sport
and exercise setting.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : In the initial stages of development of curriculum, it had specific subjects
or areas which were planned in advance for the students and were more or less fixed
in nature.

Reason (R) : The curriculum now is composed of experiences in which students are
involved under the guidance of teacher in educational institution.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Participation in recreation programme provides bridge to family life,
employment and the community participation.

Reason (R) : Recreational activities are spontaneous and pleasurable activities that
reduces the feeling of loneliness and alienation.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Paper-I1 8 J-47-16
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22.

23.

24,
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(1) (A) 3T (R) IHT Tt & 31T (R), (A) FT Tel LT T |
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(4) (A) 7T & 3R (R) & & |
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25.

26.

217.

28.

29.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Active flexibility is the ability to execute a movement with greater
amplitude with external help.

Reason (R) : The passive flexibility is always more than the active flexibility.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3 (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Applied research intends to address immediate problems.

Reason (R) : There is limited control on the conditions of experiments.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Evidence based on response processes focuses on the test score as a
measure of the unobservable characteristics of interest.

Reason (R) : Attitudes, personality characteristics and unobservable yet theoretically
existing traits are often validated with content related evidence.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Supervision is an expert technical service primarily concentrated with
studying and improving conditions that surround learning and pupil growth.

Reason (R) : Supervision is a planned programme for a better teaching learning situation.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Arrange the objectives of psychomotor domain in a sequence from lower to higher order.

(@) Perceptual ability (b) Basic fundamental movement
(c) Reflex movement (d) Physical ability

Codes :

(1) (b), (a). (c). (d) (2 (d), (c), (b). (a)

(3) (a),(b), (d), (c) (4) (c), (b), (a), (d)
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25.

26.

27.

28.

29.

e g1 31T fSU T € TSHE § U 1 31 (A) 3R §aY i aeh (R) FeT T €
ATTH (A) : TlHT T T TETrdl ¥ A&7 IR o A1 Teet S i &1 € |
a% (R) : Tfsra o gaen afswa &g 9 ST et ¢ |

SYFFT T ATHAT % T § Frefeiad § ¥ 9 W 2

(1) (A) 3T (R) I e € 3R (R), (A) T Tel TR |

(2) (A) 3R (R) T el €, wifeh (R), (A) T TEl Tt el ¢ |

(3) (A) Wl g 3R (R) Tord ¢ |

(4) (A)TeT g R (R) W& |

e 57 erfiere feu U § R 9w i aifivee (A) SR T N a% (R) Fel T E
At (A) Wmmwﬁwwmmb
% (R) : v ot feafaat o Hifa s war e |

UG T ATFAT % T H Frefetad § @ o Wt € 2

(1) (A) 3R (R) IHT Tt & 31T (R), (A) FT Tel LT T |

(2) (A) R (R) AT el €, Al (R), (A) o1 TEl TSIl e ¢ |

(3) (AT T AR (R) T ¢ |

(4) (A) T € 3R (R) TET ¢ |

e g1 31T f5U T € SHE F U 1 e (A) SR TE Pl a (R) FeT T E

AT (A) : WTATHAT UTshaT SN Qe Sia 3 ST TR o HIIT 37ehi W 91 T § |

% (R) : TG, St fORiudn 3R ST Jeny G5Te &9 F Hiog faeiudre & o=
foe-areg weafad | § ot o S & |

UG <1 AR o Ty H e o 9 w wel & ?

(1) (A) 3R (R) T4 &l & 3R (R), (A) FT Fel TIETHT & |

(2) (A) 3R (R) AT el €, eAfeh (R), (A) T TEl TSIl e ¢ |

(3) (A)THTAR(R) T ¢ |

(4) (A) T € 3R (R) TET ¢ |

T 3 STy f5T T € S 9 U B A (A) SR T B % (R) HeT T

afiepem (A) : R0 U foRivs dehien! JaT & ST WAt & 9 31y iR 91 fawm &
feafeat o stegem 3R 3TH FUR W HId erdr ¢ |

a® (R) : FRteror dgar fereror-etinm feafaat & oo we fanfsra s &

UG < A % Ged | et i o1 e Wl €2

(1) (A) 3R (R) IHT e € 3R (R), (A) T Tel TR |

(2) (A) 3R (R) I el €, wAfer (R), (A) T TEl Tt el ¢ |

(3) (A) Wl g 3R (R) Tord ¢ |

(4) (A)TeT g R (R) W& |

AR & % 3Te¥Al Bl T | o9 0 | Hared Hited

(a) SrETCH ATEa (b)  TETOA Hifers Feer
(c) e T (d) v dvea
ag-a:

(1) (b), (), (c), (d) (2)  (d), (c), (b). (a)
3) (@), (0), (d). (c) 4) (), (b), (a), (d)
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30.

31.

32.

33.

34.

35.

Arrange in sequential order for management of athletic injuries.

(@ Compression (b) Stability

(c) X-ray (d) Application of ice
(e) Hospitalization () Rest

() Elevation (h) Medication
Codes :

(1) (d), @), (b), ), (h), (&), (). (@)  (2) (a), (d), (c), (), (Q). (&), (F), (h)
3) (®).(d). @, (). (b). (). (e). () (4 (0), (@) (d). (@) (). (&) (h), ()

Larger muscle groups are exercised first, followed by smaller groups. Arrange the

following muscle groups in sequential order.

(@ Neck (b) Chest

(c) Shoulder (d) Abdomen

(e) Hipsand lower back () Calves

Codes :

(1) (), (e). (), (b). (c). (a) (2 (e), (d), (b), (), (a). (c)
3) (). (e), (d), (c), (b), (a) (4)  (d), (e), (b), (). (a), (c)
Find the correct sequence of Carron’s conceptual model of cohesion factors.
(@) Leadership factors (b) Team factors

(c) Personal factors (d) Environmental factors
Codes :

(1) (@), (), (c), (d) (2)  (c), (d), (a), (b)

@) (), (c). (), (a) (4)  (b), (d), (c), (a)

Arrange the following courses of diploma/degree in physical education in chronological

order of their inception.

(@ BPE (b) DPEd

(c) BPES (d) BPEd

Codes :

(1) (c). (d), (b), (a) (2) (d),(c), (a), (b)

3) (@), (), (c), (d) (4) (b), (a), (d), (c)

Find the correct sequence of introduction of following child care schemes in schools in
India :

(@) Balawadi Nutrition Programme  (b) Upgraded Nutrition Programme
(c) Mid-Day Meals Programme (d) Special Nutrition Programme
Codes :

(1) (c), (d), (a), (b) (2)  (c), (b), (a), (d)

3 (), (@), (@), ) (4) (@), (), (b), (d)

Find the sequential order of the following using the codes :

(@) Feedback (b) Demonstration

(c) Introduction (d) Explanation

(e) Practice

Codes :

(1) (c). (), (d), (e), (a) (2)  (c). (d), (b), (). (a)

3) (@), (b), (c), (d), (e) (4) (d), (b), (e), (a), ()

Paper-I1 12
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30.

31.

32.

33.

34.

35.

TEeTgl & e yeem & Ffeiad i SHAMER e Hifs

(a) wedfed (b) wenfae
() X=X (d) & T
(e)  3TEATA | W AT (f) fasm

(9) 3 (h) Tafeear
FT

(1) (d), @), (b), (c), (h), (e), (). (@)  (2) (a), (d), (c), (D), Q). (), (F), (h)
@3) (0. (), (). (). (b). (). (e). () (4 (b), (@), (d), (9). (c), (), (h), (F)

g ged U HET ST AT foRAT ST &, deaved o Uete Set 6 | fefeiad et gt
3TTERH o AR AT it

(@ T (b) =&

(c) whu (d) e

(e) o 3R ferett die (f) Toeferat

a&z' :

(1) (@), (e), (), (b), (c), (&) (2) (), (d), (b), (), (@), (c)
() (0, (e), (d), (c), (b), (&) 4) (d), (e), (b), (), (), ()
TS5l BT & BT o STIRONCHE HISA HT Tl 51 o1y

(@) I FRE (b) 2\ FRH

(c) SAFITT FRFH (d)  STcTeRoT Hadt HRE
a&z' :

(1) (), (b), (c), (d) (2)  (c), (d), (), (b)

() (d), (c), (b), (@) (4) (b), (d), (c), (@

IR et o fewamn/fetlt & e Teashl i 37 TR BH % HH § HOBHAER
e H

(@) s (b) SiUiTs.

(c) wtdrEma. (d) drdiTe.

FT

(1) (c), (d), (b), (a) (2)  (d), (c), (a), (b)

@) (@), (), (c), (d) (4) (b), (a), (d), (c)
IR & ferereral § fefeiad a1er 3@-3@ FISH1eT o 3TRA i o Tel 59 H SFaied &
(a) STCTaTS! T SHTRIHY (b) =T U HEHH
(C) AR WIS FrEHd (d) TaeIT ooT SR
FT

(1)  (c), (d), (a), (b) (2)  (c), (b), (a), (d)

3) (), (@), (d), (c) (4) (a),(c), (b), (d)
fFAfeiad &l e =l FeFar § HAIR Fared Hied

@ weaw (b) Ve

(c) wU&ET (d) =reEr

(e) 3= ™

FT

(1)  (c), (b), (d), (e), (a) (2)  (c), (d), (b), (e), (a)
3 (@), (), (c), (d), (&) (4) (d), (b), (), (a), (c)
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36. Find out the right order for constructing a frequency table from the below given codes :
(@ Number of class intervals to be constructed.
(b) Finding out the range of distribution.
(c) Width of class interval is to be calculated.
(d) Putting tally marks for each score in front of the respective class interval.

Codes :
(1) (b), (c), (a), (d) (2) (a), (b), (c), (d)
(3) (b), (a), (c), (d) 4) (c), (a), (b), (d)

37. List down the steps of conducting a survey in sequential order as given by Silverman et.al.
(2009)
(@)  Writing the cover letter
(b) Conducting the pilot study
(c) Delimiting the sample
(d) Constructing the Questionnaire
(e) Sending the Questionnaire
() Analysing the results and preparing the report.
(9) Following up
(nh) Determining the objectives.
Codes :
(1) (h), (0), (c), (d), (a), (e), (@), ()  (2) (b), (c), (a), (h), (d), (), (F). (9)
(3)  (c), (h), (d), (@), (&), (b), (F), (@)  (4) (h),(c), (d), (b), (a). (&), (9), (F)

38. Find the correct sequence from the codes given below :

(@ Champions (b) Beginners
(c) Ordinary performer (d) Skilled performer
Codes :
(1) (a), (d), (c), (b) 2) (D), (c), (d), (a)
@) (c), (d), (@), (b) (4)  (b), (d), (c), (a)
39. Match the proportionate division areas of a Normal Curve from List — | to that of List — I1.
List-1 List- 11
@ p-octopto . 68.28%
() p-2ctop+2c Il. 99.73%
() u-3ctou+3c Il 95.44%
(d p-4ctop+4c IV. 68.26%
V. 99.97%
VI. 99.85%
Codes :
(a) (b) (©) (d)
1) I I VI \
2 I I \Y VI
3) v ] \ VI
4) v 11 I \

Paper-I1 14 J-47-16



36. I f§F T T Bl Gerdar ¥ U SNGra IR o AT I T BT D TeTH Do

(@) 7T fopd ST aTet &l STeRTeT =l G
(b)  ToROT & TRTE T IAT ST
(C) o TR o TR i TUMT AT
(d) T o A & A U 37 & o7 it Ao T
FT
(1) (b), (c), (a), (d) (2) (a), (b), (c), (d)
(3) (b), (a), (c), (d) 4) (c), (), (b), (d)
37. TOeoRdT gaans (2009) T T YT WATOT i o =0T il Tal S § aied it
(@)  3TERoT U foramn
(b) UEEIE 3TEHIT HIAT
(c) wicseT = aREfEa T
(d) UeATEET TAR AT
(e) T U AT
(f) U 7 fovermor AT 3R Rue 99 e
(0) oot b
(h) Seeva fuiRa e
FHE
(1) (h), (b), (c), (d), (@), (), (@), () (2 (b), (c), (), (h), (d), (e), (), (9)
(3) (), (h), (d), (a), (e), (b), (), (@ (4 (h), (c), (d), (b), (a), (e), (9). ()
38. i fqd T T A W ¥ WEl ShH H qI HifT
(a) <fEs (b) itafEan
(C) TR UERIA A Al (d) rereTgot e A Al
FHE
(1) (@), (d), (c), (b) (2) (b), (c), (d), ()
(3) (c), (d), (a), (b) 4) (b), (d), (c), ()
39. - | Qg — || & TR o5 & SISt &35 i gAferd i -
= - | = - 1
(@ p-o¥u+o l.  68.28%
(b) p-2cTpu+2c . 99.73%
() p-3c¥pu+3c Il 95.44%
(d p-4c¥u+4c IV. 68.26%
V. 99.97%
VI. 99.85%
FHT
(a) (b) (c) (d)
(1) | 1l VI \Y;
2) | I V VI
k) IV I V VI
(4) IV 1l [ \Y;
J-47-16 15 Paper-I1



40.

41.

42.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(@) Range of Movement l. Balance
(b) Effective Integration of body movements I1.  Accuracy
(c) Centre of gravity within the base I1l.  Strength
(d) Specific gravity IV. Coordination
V. Flexibility
VI. Lean body mass
Codes :
() (b) () (d)
1) I I Il VI
2 \ v I VI
3) \ v ] I
4) v I I VI

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(@) Vedic period (i) 3250 BC to 2500 BC
(b) Indus Valley Civilization (ii) 600 BC to 1000 AD
() Medieval period (iii) 2500 BC to 600 AD
(d) Hindu period (iv) 1000 AD to 1757 AD

Codes :

(a) (b) (©) (d)
1 (i) (iii) () (iv)
2 (iv) () (i) (i)
@3 (i) (i) (iv) ()
@ @ (iv) (i) (i)

Match List — I with List — Il and select the correct option from the codes given below :
List—1 List— 11
(@ ACTH (i)  Water retention
(b) STH (if)  Aldosteron
(c) FSH (iii) Metabolism
(d) ADH (iv) Progesteron
Codes :

@ (0 © (@
@ ) i (v) ()
2 @iy (v) () (ii)
@) (v) (i) (i) (i)
@ @ @y ) (v)
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40. -

(@)
(b)
(©)
(d)

T

(=N

1)
)
©)
(4)

41, -

(a)
(b)
(©)

(=N

1)
(2)
(3)
(4)

42. -

(@)
(b)
(©)

(=N

(1)
(2)
(3)
(4)

J-47-16

(d)
HT

(d)

%< .

| 3 et 3 T — 1| e S S e T e & e e e

=it - | —1I
T I T I, Eqem
T e T AT THF 1. oResd
MR o 3= [ b I, it
fafre oA V. Twag
V. g
VI. = aE |

@ ® @© (@
I | i VI

\Y v I Vi
V vV I I
\Y I I Vi

| o T=i =i g — || Q Fafer s i = 5T 1T et @ W fehed b wE o

= - | = - 1
Afges et (i) 325037 ¥2500%9,
Ty =t 6 e (i) 60031, ¥ 1000 T,
e et (iii) 2500%.9, & 600 2.
fomg e (iv) 1000% @ 1757 %,

@ (® (© (@
()  Gi) @) (@)
vy @) i) i)
@iy @ v @)
M v () (i)

| % TR ol gt — |1 | GAferd L 3 A 5T 70 2t A Tl fosheq 1 oa= #
e - | =t - 11

T, (i) STeT gror

T, (i) STeeReH

TH.UE.0d. (iii) =EIE (AeTEiersT)

T, (iv) TR

() (b) () (d)
Gy  Giy  @Gv) ()
iy  @Gv) @) (i)
Gv)  Giiy  Gi)y ()
(i) @iy (i) (i)
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43.

44,

45.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(Joints) (Example)
(@ Gliding (i) Between Humerus and Ulna
(b) Condyloid (i) Between Radius and Ulna
(c) Pivot (iii) Between Carpal bones
(d) Hinge (iv) Between Metacarpal and Phalanges

Codes :

(a) (b) (©) (d)
@ vy (i) () (ii)
2 () (i)  (iv) ()
@ (i)  (iv) (i) ()
@ (i)  (iv) () (i)

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(@) Self-efficacy: Unifying theory of behavioral change (i) Bandura, A
(b) Evaluation of Goal-setting training (i) Morgan, W.P.
(c) Psyching for sports (iii) Orlick, T.
(d) Exercise and Mental Health (iv) Burton, D.

Codes :

(a) (b) (c) (d)
@ 0 (iv) (i) (i)
(2) (i) (i) (iv) ()
(3 (i) () (i) (iv)
@ (v (i) () (iii)

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List—1 List—11
(@ Instruction (i) Essential visual teaching aid
(b) Teaching (i) Concept development
(c) Demonstration (iii) Limited and narrow
(d) Explanation (iv) Comprehensive and broad based

Codes :

(a) (b) (©) (d)
@ (v () (i) (i)
(2 () (i) (iv) ()
@ O (i) (i) (v
@ (i)  (iv) (i) ()
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43. gt — | F UGSl B gl — || F GAfed P R A KT T Fei ¥ Tl foeheq Hr waT e

= - |
(wifera)

=t - 11
(SRR

(a) Tordor (vetreiem) ()
(b) Hieciae

(c) it (TrEe)
(d) &t

T

(=N

@ (0 © (@
@ av) @) () (ii)
2 @) i)y (v) ()
@ G (v) (i) (i)
@) (i) (v) () (ii)

TTITUSERT (BIHRE) Tl 37d: Wehiftaaht (3Te) & ar g

(i) SfEvepites (fgaq) qen id: UhiSH (3T &
EIEl

(iii) T e % d

(iv) TSI qe Serstt & ore

44, T — | F T B g — || § GG B 3T 9 KT 0 Fe @ @ e e o

=it - |

(a) 3T FIRAT : FTERI TR T ThIshoT [FgT=T (i)

(b) &I TTYROT ARTLIVT T Hoaieh
(c) T FT H T

(d) =M AR AHEEs @
FE

(=N

@ (0 © (@
@ @ Gy i) (i)
@ @) i) (v) ()
@) G () (i) ()
@) (v) (i) ) (i)

=t - 1
T,

(i) TR, S
(iii) e, .
(iv) =, =8

45, gt — | % ST B Gt — || Ao Y T A U T et § el foeheT s wae e

e - | =t - 11
(a) 3RS (i) oTevas gee foTeTor Terser
(b)  TorefoT (i)  STerRoT foehr
(c) W (i) ST 3iT GO
(d) == (iv) = AR faega smenid

FT

@ (0 © (@

@ Gy @ ) (i)

2 @) @) (v) ()

@ O @i (i) ()

@) (i) - (v) (i) (i)
J-47-16
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46.

47.

48.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :
List— 1 List—11
(@ Vitamins and Minerals (i) Organic compounds having Glycerol and fatty acids.
(b) Carbohydrates (it)  Structural material of the body.
(c) Proteins (ilf) Combination of oxygen, carbon and hydrogen.
(d) Lipids (iv) Metabolic regulator
Codes :
(a) (b) (©) (d)
1 Gv) (i) (i) (i)
2 () @iy  (v) (i)
@ () (v) (i) (i)
(4) (i) (i) @iy (v
Match the terms of List — I with that of List —IlI and select the correct option using the
codes given below :
List—1 List—11
(@ Competition period (1) High training volume but medium
intensity
(b) Transitional period (i) Lower training volume  but
maximum intensity
(c) Preparatory period Phase Il (i) Low training volume and low
training intensity
(d) Preparatory period Phase — | (iv) Very high training volume and
considerable increase in intensity
Codes :
(a) (b) (©) (d)
1) (i) (i) (iv) (i)
2 () (i) o (iv) (i)
@ 0 @iy (i) (iv)
4 (v) (i) (i) (i)
Match the various quadrants of graph in List — | with their respective x & y values in
List—11.
List—1 List— 11
(@ Quadrant -1 .  —-x+y
(b) Quadrant - 11 . +x+y
(¢) Quadrant -1l . +x-y
(d) Quadrant-1V V. —-x-y
Codes :
(a) (b) (©) (d)
1) I I v i
2 I I i v
3) I i v I
4) I I v i

Paper-I1 20 J-47-16



46,
=i - |
(a) foarfm 3k wist
(b) rEEEgE
(c) W=
d) fafres
T
(a) (b) (©)
@ Gv) (i) (i)
2 O (i) (iv)
@ (i) (iv)  (iii)
4) (i) () (i)
47,
e - |
(a) wfceaer erary
(b) THHOT 3ty
(c) AR emafy =Rl
(d) TaRt emafy =T — |
FT
(a) (b) (c)
1 (i) () (iv)
(2 (i) (iii)y (v
@ O (i) (iii)
@ (v) (i) (i)
48,
ot & THeTe it
=it - |
(a) =g —| l.
(b) =R II Il.
(c) =i — I 1.
(d) =i -1V V.
FT
(a) (b) (©)
(1) | I \Y%
(2) | I I
k) N I \Y%
4 | \Y
J-47-16

T — | 3 T - 1 e i S T e & e e e

= -
(i) TorRier qen auge 37t aTet e AT
(i) ¥IRR o GCoAHS QI
(iii)  STRIST, I R TTEGISH BT GASH

(A e a

(iv) 39Ol [EAES

(d)
(1
(iii)
(1
(iv)

Tt — | % U= B Gt — |1 T GAferd L 3 A 5T M0 2t T Tl fasheq 1 oa= #

=t - 11
(i)  SOTET UTTeIoT AT SAfsh Tee ciere
(ii) T wfSTeToT O AAfehT Stfersher e
(iii) Fret wfewor wEn sk e e

tera
(iv) 3Tcafess UfeTeIor AT 31 oo o g9
g |
(d)
(i)
(i)
(iv)
(i)

=it - 11
+X+y
+X-y

(d)
i
\Y

21

TE - | ° 53 T o & i qeiet (@@ rge) & g - || 6 S T S W x we y &
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49. Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List— 1 List—11
(@) State trait Anxiety Inventory I.  M.L. Kamlesh
(b) Group Cohesion scale Il.  Chelladurai, P.

(c) Sports Achievement Motivation test  1ll.  Spielberger, C.D.
(d) Sports competition anxiety test IV. Carron. AV,
V. Martens, R.

Codes :

(@) (b) (© (d)
N ERY; 1l | I
Y 1l V |
3) 1l \Y | Y
@ 1 V |

50. Match the terms of List — I with that of List — Il select the correct option using the codes

given below :
List—1 List— 11
(@ Community Recreation (i)  School and College
(b) Institutional Recreation (i) Rural and Urban
(c) Therapeutic Recreation (iii) Amusement Park
(d) Commercial Recreation (iv) Hospital
Codes :

@ (0 © (@
@ @ @y ) o (v)
2 (i) @) (v) (i)
@) G - (v) (i) (i)
@ v @) (i) (i)
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49. gt — | % UST @ gl — || F AT P R A ST T Pl ¥ Tl fosheq 5o B

o= -
(a) ¥ LE T T

(b) T TESH STHT (YT HIT Thed) . <eTgrE, i,

(C) Tl SUCAfsY STRIUTOT TRieTor
(d) T wirEfiTET g wer

1)
()
©)
(4)

@ ()
% i
\Y i
i Y

=it - 11
.  UATA FHAN
., TATR, 9.
V. &%, T
V. W\, AR
(d)
I
|
\Y;

50. R — | & TR W gE - || § GEfe H 3K A KU 0 5ol | w8 o e o

(a) WTRIES FARSH

(b)
(©)
(d)

%< .

(=N

1)
()
(3)
(4)

J-47-16

= - |

TR RS
IElETEREIESEN
FfoTREes FRSH

(a) (b)
() (iii)
(i) ()
Gi)  (iv)
(iv) ()

(c)
(i)
(iv)
(i)
(iii)

= - 1
(i) foemem iR merfammem
(i) T S v
(iii) TR TR
(iv) Tafseamem

(d)
(iv)
(iii)
()
(i)
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Space For Rough Work



